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4.25z + 100 = 4.20z + 900
Az+1)=2z+4

(

4(z+1)=4z+9

4(z+1)=4+4z
(

dz+1)=22+7

T T
Evaluate A= P+ PRT, P =51000, R=8.5%,T =5

. Evaluate T = P — PD, P = 51000, D = 95%

—2z + 6y = —40, Solve for z

8z — 2y = —10, Solve for y

r_5

24 36

(—24000 — 6000) = 60 — 80

Is (1000, 500) a solution of 2z + 3y = 35007
Find the slope (—8,—16) and (-2, —4)

Find the slope (—10, —5) and (—60, —30)

Find equation of line m = 50 and point = (10, 1100)
2z + 280 < 8x — 4z + 180

Find slope and y-intercept —4000z + 2y = 8000
Graph y = —2z + 10

Graph 5z 4+ 2y =4

4Om4y‘7z_11
14z —2y —102711

2I4y7 220 4
m

(2x — 3)(4z — 5)

(2z + 5)(2z — 5)

(2z — 5)(2z — 5)

(dz —7)?

(2z — 5)(z? — 6z — 10)

(42?2 — 9z + 5) — (=222 — 11z + 10)

222 + 3z — 11
z—1
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